Week 4

3th level

correction



Reading
4 Read and cross out the mistakes, Write,

05he’5 wearing a dress and a hat. Seaid;

jacket

0 He's wearing a-shirt and jeans.

€) She's wearing a skirtand a wah, | Pracelet

@He*s wearing jeans and a cot. T-shirt

5 Read. True \/ of False X?
2

Hello! My name's Papan. I'm from the mountains

of Perv. I'm wearing a hat and a scarf. And I'm wearing a long
skirt and big warm boofs for the winter!

v
OPupon iswearing o hat. ‘/ 95he’s wearing a sk,
X X
05he’5 wearing a coaf. 95he*s isn't wearing a bracelef,
v X
95he isn't wearing boots. GShe’s wearing jeans.




